King Fahd University of Petroleum & Minerals

Electrical Engineering Department

EE390 Exam-1 

	Prob.1
	Prob.2
	Prob.3
	Total

	
	
	
	


	Name :                                                                                 I.D.
Section


1. Write an efficient procedure called MUL11 to multiply AX by 11 (decimal) without using MUL instructions, (just using shift, Add, and Move). The result will be returned in AX. MAX 7 lines.
	MUL11    PROC 

MUL11    ENDP 


2.  For the given values shown in the table  {assume the memory contents of the 

addresses in between the given addresses (in the table) contain zero values};

	Register contents
	Memory addresses (PA)
	Memory contents (Hex)
	Memory addresses (PA)
	Memory contents (Hex)

	(AX)=0067H
	       (01100 H )= 10 H
	       (01201 H )= 00 H

	(BX)=0020H
	       (01101 H )= 00 H
	       (01210 H )= 40 H

	(CX)=0030H 
	       (01120 H )= FF H
	       (01211 H )= 00 H

	(DX)=0040H 
	       (01121 H )= FF H
	       (01220 H )= 30 H

	(DS)=0100H 
	       (01130H )= 08 H
	       (01221 H )= 00 H

	(SS)=1100H 
	       (01131H )= 00 H
	       (01230 H )= 40 H

	(SI)=0100H 
	       (01150 H )= 02 H
	       (01231 H )= 00 H

	(DI)=0200H
	       (01151 H )= 00 H
	       (01240 H )= 10 H

	(CF)=1
	       (01200 H )= 30 H
	       (01241 H )= 00 H


What is the result produced in the destination operand by executing the instructions of each of the following two parts (each part starts from the same conditions above).

	No
	INSTRUCTION
	Destination after execution

(Distination)= contents

	
	
	

	
	
	

	1
	ADD   
	AL, 16H
	(                               )=

	2
	DAA
	
	(                               )=

	3
	ADC
	SI, BX
	(                               )=

	4
	INC
	BYTE PTR [0100H]
	(                               )=

	5
	SUB
	DL, BL
	(                               )=

	6
	SBB
	DL, [0200H]
	(                               )=

	7
	DEC
	BYTE PTR [DI+BX]
	(                               )=

	8
	NEG
	BYTE PTR [DI]+0010H
	(                               )=


	No
	INSTRUCTION
	Destination after execution

(Destination)= contents

	
	
	

	
	
	

	1
	MOV 
	AX, 1234H
	(                               )=

	2
	MOV 
	DX, 00A0H
	(                               )=

	3
	MOV 
	BX, 0020H
	(                               )=

	4
	XCHG
	SI, DI
	(                               )=

	5
	MUL
	CX
	(                               )=

	6
	IMUL
	BYTE PTR [SI+BX]
	(                               )=

	7
	MOV
	AX, F400H
	(                               )=

	8
	IDIV
	BYTE PTR [SI]+0030H
	(                               )=


1. For the given values shown in the table  {assume the memory contents of the 

addresses in between the given addresses (in the table) contains zero values} ;

	     Register contents
	Memory addresses (PA)
	Memory contents (Hex)

	        AX=0500H,
	            00306 : 12

	        BX=0200H,
	            01006 : 12

	  CX=0235H, 
	            10006 : 32

	  DX=02F0H, 
	            10206 : E4

	  DS=1000H, 
	            10306 : 4A

	  SS=1100H, 
	            10406 : FE

	  SI=0300H, 
	            11016 : D7

	        DI=0400H,
	            11206 : 9C

	        BP=0010 H
	            11606 : B8


(a) (i)  MOV CX,0A02H ;

(ii) SAL   AX,CL ; 

	No
	SOURCE OPERAND
	DESTINATION OPERAND 
	Addressing Mode used
	Flags affected (yes/no)

	
	Physical Address
	Contents 
	Physical Address
	Contents 
	
	

	
	
	After exec.
	
	Before exec
	After exec
	
	

	(i)
	
	
	
	
	
	
	

	(ii)
	
	
	
	
	
	
	


(b) (i)  XOR AH,[SI+6] ;

     (ii)  SUB DL,[BP+6] ; 

	No
	SOURCE OPERAND
	DESTINATION OPERAND 
	Addressing Mode used
	Flags affected (yes/no)

	
	Physical Address
	Contents 
	Physical Address
	Contents 
	
	

	
	
	After exec.
	
	Before exec
	After exec
	
	

	(i)
	
	
	
	
	
	
	

	(ii)
	
	
	
	
	
	
	


(c) (i) MUL BH;

     (ii) ADD  [BX+DI+6], AX;       

	No
	SOURCE OPERAND
	DESTINATION OPERAND 
	Addressing Mode used
	Flags affected (yes/no)

	
	Physical Address
	Contents 
	Physical Address
	Contents 
	
	

	
	
	After exec.
	
	Before exec
	After exec
	
	

	(i)
	
	
	
	
	
	
	

	(ii)
	
	
	
	
	
	
	














